Poziom +1

o
<
BMF BSWOYDAL)
— .3 (W]
g
K-l I
=
= 3 g
Az kO 5 M
VmQDi ool Y |[ow-F
N S RS2l RN IR [ IS
= v g )
L] < [P 2 =
o < = vl =
< — = <
= e
& <
pd
<
S k= =
<t = ©
< N &3
4 = = N
Lvm .lmmu - 2
< Ml ol = Ol N o] B
sl RN 2 |0
= v g e,
g 5y 2 N
< — < &
<t (] «m m.
= =
NS
= z
L
<t
 » )
<
L faa g
4..n<DJ [V ~
L
<
a)
<
U
e
ol < =
of q |9 |-
o y—
ms
O%
)
—
e
=
<

A_ _

E‘mowﬁz BYSMONBSSOY

m

—
O
—

[ noid einpeq |

1B

1D

[STUB(] D{SMOYe7

1F

[oIue( DsMoYe7

1G

[STUB(] D[SMOE7

1D

1H

IR DSMouIey]

11

NOIRIAl ISMouley]

1K

SOIEN DSMOUIEY]

JouelI,{ ZOIMIINZSO0IO0Y

[D)

>3

ouel] ZOIMIIZS0IOU

[D)

=z

Youel] ZOIMIIZSO0IOY))

1L

ZS0)1eq ZOMIZS

o

-—

Z50)1ed JBZOMIZS

Z50)1ed JBZOMIZS

1P

ZSeWwO], D[SUOIMOYS

ZSewo], DSUOIMOYS

ep3eIN BYZeIpod

>

-—

ep3eN BYZeIpod

1W




